
This is a mult-section quiz.  You may not communicate to anyone about it until I 
notify you that you can. 

SI340 Quiz 9    Name ______________________________ Alpha ____________ 

1. Give a top-down parser in the form of a PDA for the context free grammar with 
productions.  Number your transitions in the PDA so you can refer to them in problem 2. 

S → S+S | S*S |(S) | a 

 
 
2. Complete the following table that does a top-down parse for the spring (a * a + a). 
 

Stack Input Rule Used 
Ζ λ(a*a+a) λ, Z; SZ 

SZ λ(a*a+a) λ, Ζ; (S) 
(S)Z (a*a+a) (, (;λ 
S)Z a*a+a) λ, S; S*S 

S*S)Z a*a+a) λ, S; a 
a*S)Z a*a+a) a, a; λ 
*S)Z *a+a) *, *; λ 
S)Z a+a) λ, S; S+S 

S+S)Z a+a) λ, S; a 
a+S)Z a+a) a, a; λ 
+S)Z +a) +, +; λ 
S)Z a) λ, S; a 
a)Z a) a, a; λ 
)Z ) ),);λ 
Z λ λ, Z; Z 
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